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Models of Exponential Growth and Decay

1. A school has an enrolment of 1024 students. The student population is
expected to grow at a rate of 2.4% each year. Estimate the number of
students enrolled 6 years f now.

2 Years from \4 0.024

c=1024

o-lroont Bt

o=[.02¢ ~(an(row\

X =6 = (/3]

= ? - Tnh égmrs‘f/\ere SAO(JU be 1l Z/ S{’UO'"Qk
2. The number of bacteria in a sandwich grows exponentially, tripling every
g%fﬁms If 406 bacteria exist, how many cteria will be there in 5
) W=Ca S

c-ws u=s(3)

_ 5¥ =93 973 %17
=10 9?775 st baderia, i Srind?
7
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4. The population of red headed woodpeckers in Elgin county is

sing by 3% per year. If there are 45 birds today, how many will
ere be in 2 years? %j E
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5. The cost of cafeteria food increases by 1.5% each year, and fries cost

$3.50.
a) Find the cost in 4 years. +-2S
b) How much did they Gpst 25 years ago? W= 750(.0l 5)
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6. The number of detentions that you will get for skipping Mr. Tangent's

class grows exponentially, doubling each time you skip. If you start with
ane detention, how many detentions will you have if you skip 8 more
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HW - Create a study Sheet for the upcoming test!
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MBF 3C1 Models of Exponential Growth and Decay Unit8-7

1. A school has an enrolment of 1024 students. The student population is
expecied to grow at a rate of 2.4% each year. Estimate the number of
students enrolled 6 years from now.

2. The number of bacteria in a sandwich grows exponentially, tripling every
30 seconds. If 408 bacteria exist, how many bacteria will be there in 5
minutes.

3. The half-life of a certain materialis 4 years. If there are 300g now, how
many grams will there be in 40 years?

4. The population of red headed woodpeckers in Elgin county is
decreasing by 3% per year. If there are 45 birds today, how many will
there be in 2 years?

5. The cost of cafeteria food increases by 1.5% each year, and fries cost
$3.50.

&) Find the cost in 4 years.

b) How much did they cost 25 years ago?

6. The number of detentions that you will get for skipping Mr. Tangent's
class grows exponentially, doubling each time you skip. If you start with
one detention, how many detenticns will you have if you skip 8 more
times?

7. The population of ants in an ant hill has been decreasing by 3.5% per
day. If there are 2 000 ants now, how many were there 2 weeks ago?

Application Canada has a population of approximately 30 000 000.

8. a) Suppose the population grows by 100 000 each year. Copy and
complete this table.
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b) Suppose the population grows by 3.3% each year.
Copy the table in part a. Complete the table for a 3.3% annual growth.
<} Graph the data from both tables on the same grid.
d) What type of growth do the data in parta represent? Explain.
) What type of growth do the data in part b represent? Explain.
£ With which type of growth will the population grow faster? Explain.

whwixr Start working on your unit review ******

November 27, 2014



6.7 Models of Exponential Growth and Decay - done.notebook November 27, 2014

Answers

1. ~1 181 students

2. x="10 (5x2), 23 973 894 bacteria

3. n/h = 40/4 =10, 0.29 grams O
4. ~42 woodpeckers

5.2)$3.71 b)n = -25, $2.41

6) 256 detentions

7)n=-14, ~3 293 ants
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d) Linear growth because # constant amount is added
each year,

o} Exponentiat grosth because each smount is multiplied
by a constant.

; Exponentiat growth because the amount added gets
Jarger every year.
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